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1. J|A0E (230140 I2) 2z : 2012 3" 52~32 1Y
T E g =57 [ wau s57 | wad %HHE(?%Q)
J12(0) 6.6 7.9 38 oY 32 3" 1Y~ 7.
o1 24424 (mm) 7.1 13.0 3" 59 - - . %'g
== (m/s) 2.0 3.0 38 112 1.3 33 82 . N>
pe.ue way 52 38 42(%2), 386~9Y ()

2. HDIRYE T (8= X2= Arkorea HIIQEET AAIZF ZUAIAE NZEZE)

R a=
a2 SI|=E =omA HEmR FAER d=8z
OIKIZXI(PMig) | 24412 100k 49ug/m 33us/m oo ekl
Z(0g) 8AIZ+ 0.06ppm 0.031ppm 0.026ppm 0.030ppm 0.0z2ppm
OIAFSHRIA(NO,) | 24A12¢ 0.06ppm 0.018ppm 0.019ppm 0.022ppm 0.025ppm
UAZIEFA(CO) | BAIZE  9ppm 0.5ppm 0.4ppm 0.6ppm 0-6ppm
OFEHAIIFA(SO,) | 24A12F 0.05ppm 0.005ppm 0.003ppm 0.005ppm 0-005ppm
3. BxXYY HIIRST
PMio(ug/ ") Os(ppm) NO2(ppm) CO(ppm) S
T = u a4 ad e ke
ST 8F g | 3F | 8% g | 3% | 8F | g0 | EF | 8% o | 3F | €F | oo

46 30 52 0.031/0.026/0.030 0.017 0.018 0.020 0.5 0.4 0.4 [ 0.005 0.004 0.006

54 42 56 0.026/0.020 0.021 0.022/0.022 0.046/ 0.5 0.5 | 0.5 0.004 0.003 0.006

0K 0% A
R Y

55 37 65 0.032/0.027 0.034 0.022 0.022 0.022| 0.6 0.6 | 0.4 0.005 0.004 0.005

=X 53 34 55 0.035/0.028 0.036 0.012/0.012 0.011| 0.5 0.3 | 0.3 0.005 0.003 0.005

c=H X4 46 37 68 0.028/0.023 0.033 0.0230.023 0.027 0.6 0.4 | 0.6 0.004 0.003 0.005
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=

120 012
= qURFIHET @ eEZVHEF 7| 2 7| (O A B R 100pg/ 2B F), 2E:0.20ppm(A|ZHEF)

100 010

BO 0.08

60

(3= =ik

4a

(~BlHrxse

20

o

ME it o= 21 3F {2 bl =4 47| zd a5 = n= nE a5 48 HZ=

# DINISIXI(PM) & BI1 2 DRAENS Xtet A AEHO| QN 2822 XHO0| 10m0I5tS HXIUXE Lat

OIALE - BE XS PMig, O3, CO, SO At B@sZUHl 19~48% =0HA2H, 8= F2A4sT
CHHI Os= 103%, LAl 400 &=2 80~98%01 €8. == PMie= UIIZEII=HYI
(24A124) 49% =&,

o
Jm



